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Matrix Algebra

1.

Matrix Usage

In a survey of 900

200 males
150 males
45 males -
315 females
125 females
65 females

people, the following information was obtained:

Thought federal defense spending was too high
Thought federal defense spending was too low
Had no opinion ' _

Thought federal defense spending was too high
Thought federal defense spending was too low
Had no opinion

This data can be arranged in a rectangular array as follows: :
Too ch&k Toee Lova Vo Opiaion,
Minle 2O kY
Female Y
Or as a matrix as:

I 200
BrE

Definitions and properiies

A.

—

Dimensions

B. Square Matrix
C.
D

- Commutative Property

Equal Matrices

1. Addition
2. Multiplication

. Associa_tive Property

L. - Addition
2 Multiplication

Zero Matrix

. Scaler Multiplicatjon

List properties
1.
2.
3.

. Column Vector

Row Vector
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